]
&
-
mQI—
[]
10
1
107t
2
LL
[a)
@)
(@]
o 1
IS
24
0.5

Rivet 3.1.10, = 3M events

1800 GeV ppbar Underlying Event
1T rrr T [ r o r oot T ]
L Z(pT) VS A@ (ple > 5.0 GeV) _
| m CDF N
— --3-- Herwig 7.2.1 default -
L ¢ Sherpa 2.2.9 default -
R, |

&
| N
- im _
L QE} —
o om _

¢ T L
N mEEE

‘g EglE .. B][EE‘EE%’@WM
- ‘EEE%EMEEéﬁéﬁégégééﬁgmgmgﬁﬁfE%44* v _
— EI2 2N ot -
- AR A S T PP Y -
_l —1 | | | | [ | | | | | | | | | | I_
e e ) L
B - - 2
- B e B A
_QE@E@ .QH EBEE EEEE@Emmmmgﬁgaﬁﬁmﬂgaaﬁgm@ém

, L I SN PE LI

| L2 2 3 S R WAL T -
i "y 09,‘QV#’,‘& v )

I T T S T I T T S T I T T S T T T
0 50 100 150

A/ degrees

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


